WARREN
RUPP° .

MARATHON II°
M 15 Non-Metallic

Quality System
1SO9001 Certified .
Environmental DESIgn l.evel z
Management System
1SO14001 Certified 4 Ball ‘,alve
s by ]
J Air-Powered
Double-Diaphragm Pump
U.S. Patent
#5,996,627 &
6,241,487 ENGINEERING, PERFORMANCE
IDEX CORPORATION 4
vty CE & CONSTRUCTION DATA
INTAKE/DISCHARGE PIPE SIZE CAPACITY AIR VALVE SOLIDS-HANDLING HEADS UP TO DISPLACEMENT/STROKE
14" ANSI Flange or 0 to 90 gallons per minute No-lube, no-stall Up to .47 in. (12mm) 100 psi or 231 ft. of water .36 Gallon / 1.36 liter
PN10 40mm DIN Flange (0 to 340 liters per minute) design (7 bar or 70 meters)
o
o o 31%':'\" (Mhr) Performance based on water at ambient temperature.
71100 oan
100 P;S’ 653 ! 20 (34)
90 : ar 130 (51)
6t : 1
80 : ‘: 140 (68)
80 pﬁ\ \
5r 70 (5'44 Baf\‘)\
\ \ 150 (85)
60 u g R
T 44 60 po; b
] OPs (4.@\\\ ~INU55 @3 g
' SN 60 (102 w =
40 % —~—r ] = @
PSI (2, 72?&)\ T~ | zZ
2l 30 - : : \ .65 (110) 30— 91
) — | — 25476
N NN [
20 | ~ e T S 20-| 6
1l 0Ps| (1_36\83%\'\ e D) 15 45
10 < Inlet Proe—t— | 169 (117) | 10 3
SSyrg T T—
e — ~—~ 45N 5415
ol o ‘ \ — (78) 58 (99) ‘
0 10 20 30 40 50 60 70 80 90

U.S. Gallons per minute

rr -t r 0 rr -t 1T 1 1 T 1
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340
Liters per minute

Capacity

MARATHON II° pumps are designed to be powered only by compressed air.

520-194-000-DS  4/02 Model M15 Non-Metallic Design Level 2 Page 1



Explanation of Pump Nomenclature
M15 Non-Metallic - Design Level 2- Ball Valve

Check Diaphragm/ | Check | Non-Wetted Shipping
MODEL Pump | Pump | Valve |Design| Wetted | Check Valve | Valve Material Porting| Pump| Pump Kit Weight
Brand | Size | Type | Level | Material| Materials | Seat Options | Options| Style [ Options| Options | Ibs. (kg)
M15B2P1PQAS000. M 15 B 2 P 1 P Q A S 0 00. 53 (24)
M15B2K1KQAS000. M 15 B 2 K 1 K Q A S 0 00. 65 (29)
M15B2P2PQAS000. M 15 B 2 P 2 P Q A S 0 00. 53 (24)
M15B2K2KQAS000. M 15 B 2 K 2 K Q A S 0 00. 65 (29)
M15B2P3PQAV000. M 15 B 2 P 3 P Q A \Y 0 00. 58 (26)
M15B2K3KQAV000. M 15 B 2 K 3 K Q A \ 0 00. 77 (35)
M15B2P4PQAV000. M 15 B 2 P 4 P Q A \Y 0 00. 58 (26)
M15B2K4KQAV000. M 15 B 2 K 4 K Q A \ 0 00. 77 (35)
Pump Brand Non-Wetted Material Options Pump Options
M= Marathon [1® A= Painted Aluminum 0= None
. J= Painted Aluminum PTFE 2= Mesh Muffler
I:gl_r?f}"&ze Q=Epoxy Coated Aluminum 3= High temperature Air Valve
-z K=PTFE Coated Aluminum w/Encapsulated Muffler
Check Valve Type L= PTFE Coated Aluminum with 4= High temperature Air Valve
B=Ball PTFE Coated Hardware w/3M Muffler
) R=Epoxy Coated Aluminum with 5= High temperature Air Valve
Design Level PTFE Coated Hardware w/Mesh Muffler
2= Design Level
. Porting Options Kit Options
Wetted Material A=ANSI Flange 00.=None
K=PVDF D=DIN Flange P0.=0-30VDC Pulse Output Kit
P=Polypropylene 7= Dual Porting (ANSI) P1.=Intrinsically-Safe 10-30VDC
. . 8= Top Dual Porting (ANSI) Pulse Output Kit
Diaphragm Check Valve Materials _ : -
1= Santoprene/Santoprene 9= Bottom Dual Porting (ANSI) P2.=110/120 or 229/240VAC
2= PTFE-Santoprene Backup/PTFE Pump Style Pulse Output Kit
3= PTFE Pumping, PTFE-Santoprene D=RuppGUARD ™ with Electronic P3.=Intr|n3|cally-S§fe 110/120VAC
Backup Driver/PTFE Leak Detection (110V) Pulse Output Kit
4= Santoprene Pumping, Santoprene Driver/ E= RuopGUARD ™ with Electronic P4.=Intrinsically-Safe 220/240VAC
Santoprene pp . Pulse Output Kit
Leak Detection (220V) SP.=Stroke Indicator Pins
CheckValve Seat M= RuppGUARD ™ with Mechanical ’
K=PVDF Leak Detection
N=Nylon S=Standard
P=Polypropylene V= RuppGUARD ™ with Visual

Leak Detection

A CAUTION! Operating temperature limitations are as follows:

Operating Temperatures
Materials Maximum* Minimum* Optimum**

Santoprene® Injection molded thermoplastic elastomer with no fabric layer. 212°F -10°F 50°F to 212°F
Long mechanical flex life. Excellent abrasion resistance. 100°C -23°C 10°C to 100°C
Virgin PTFE Chemically inert, virtually impervious. Very few chemicals are known
to react chemically with PTFE: molten alkali metals, turbulent liquid or gaseous 212°F -35°F 50°F to 212°F
fluorine and a few fluoro-chemicals such as chlorine trifluoride or oxygen difluoride 100°C -37°C 10°C to 100°C
which readily liberate free fluorine at elevated temperatures.
PVDF 200°F -10°F

-93°C -13°C
Polypropylene 150°F -40°F

65°C 5°C
Polyurethane 210°F -40°F -40°F to 210°F

99°C -40°C -40°C to 99°C

*Definite reduction in service life.

For specific applications, always consult “Chemical Resistance Chart” Technical Bulletin o S e
**Minimal reduction in service life at ends of range.

520-194-000-DS  4/02 Model M15 Non-Metallic Design Level 2 Page 2



DISCHARGE PORT

237/8" 1 1/2" STANDARD 125§ FLANGE CONFIGURATION B
; 5/8" DIA., (4) HOLES EQUALLY SPACED e A ,
l— 11 15/16 A ON A 3 7/8" DIA. BOLT CIRCLE. T -3 9/16
=y MANIFOLD CAN ROTATE +90°

1 / FROM VERTICAL CENTERLINE.

STANDARD ENCAPSULATED MUFFLER:
1" NPT EXHAUST PORT
FOR OPTIONAL PIPING EXHAUST
AIR IN SUBMERGED APPLICATIONS.
:(Q \
N
= }7
9 >
FRONT VIEW b o
N ~N
N —
n
Lo}
2
» J; SIDE VIEW
Q SUCTION PORT [ [
2 1/2" 1 ‘\/2" STANDARD ‘\25# FLANGE CONFIGURATION ‘
=9 1/4" = 5/8" DIA., (4) HOLES EQUALLY SPACED 3 9/15"
¢9/16u TYP. 14 1/4 JE— ON A 3 7/8 DIA. BOLT CIRCLE. 12 _‘/4,,
8 PLACES ﬁﬁ
e IENT T © ?
Yo
A e SR TN
BOLT PATTERN IS 1 1 © o
SYMMETRICAL ) A ] -
ABOUT CENTERLINES. o TTHE ¢ / 9 V
. O7=
4 5/8 5 1/8"
ﬁ;//]:,, BOTTOM VIEW
1 7/16" o I\ AR INLET
. 3/4 NPT
12 7/8" —=

[l

520-194-000-DS  4/02 Model M15 Non-Metallic Design Level 2 Page 3



Dimensions: M15 Non-Metallic
with RuppGUARD™ Spill Prevention

o 15 1/4" ——=

DISCHARGE PORT — B
28 5/8" 1 1/2" STANDARD 125# FLANGE CONFIGURATION
; 5/8" DIA., (4) HOLES EQUALLY SPACED LA | 3 9/16"
14 5/16" —f ON A 3 7/8" DIA. BOLT CIRCLE. T /

1| MANIFOLD CAN ROTATE +90'
STANDARD ENCAPSULATED MUFFLER: i~ FROM VERTICAL CENTERLINE.
i
i
J

1" NPT EXHAUST PORT
= FOR OPTIONAL MUFFLER
STYLES OR PIPING EXHAUST

AR IN SUBMERGED

APPLICATIONS.
™
S
T o
Q>
FRONT VIEW o © N
RN
N~
n
- =
-
316" SIDE VIEW
— 1 NS
4 5/8" ! SUCTION PORT ] T
1 1/2" STANDARD 125# FLANGE CONFIGURATION ‘
5/8" DIA., (4) HOLES EQUALLY SPACED 3 9/16"
ON A 3 7/8” DIA. BOLT CIRCLE. LR .
29/16" TYP. ~5 1/8" 12.1/4
8 PLACES = ﬁz =
)l L o - .
o ©
/T = Foow N
o
SO TR o = © - DIMENSION A B
CENATBE%UUTNES o Nilarmizig I i Standard Pump 6 9/16” 12 11/16”
4 5/8° | |[[-2 1/2» BOTTOM VIEW Pulse Output Kit 71516" | 14 116"
1 1131//1155 I A;q INLET Mesh Muffler 12 9/16” 18 11/16”
3/4" NPT - > "
1 7/16" —f Sound Dampening Muffler 8 13/16 14 15/16
12 7/8" —=f
387mm
- B —
DISCHARGE PORT
728 mm 1 1/2" STANDARD 1254 FLANGE CONFIGURATION
5/8" DIA.,, (4) HOLES EQUALLY SPACED e A [ 90
e 364mm —=] ON A 3 7/8" DIA. BOLT CIRCLE. R N T mm
il | — MANIFOLD CAN ROTATE +90°
STANDARD ENCAPSULATED MUFFLER: is~] FROM VERTICAL CENTERLINE.
3/4" NPT EXHAUST PORT !
FOR OPTIONAL MUFFLER J
STYLES OR PIPING EXHAUST
AR IN' SUBMERGED
APPLICATIONS.
AL 3
» £
N g
| FRONT VIEW B e €
e £ f
- 2 8
© 1o "
SO S l SIDE VIEW
17mm — - r i SUCTION PORT i o
235mm 1 1/2" STANDARD 125§ FLANGE CONFIGURATION ‘
Frsil 5/8" DIA., (4) HOLES EQUALLY SPACED 90mm
ON A 3 7/8" DIA. BOLT CIRCLE.
99/16" TYP. — 130mm s
8 PLACES 5 E s \ ‘ ?
BT
= -
BoLT PATTERN s 7 X SIS DIMENSION A B
IS SYMMETRICAL ° Ts- = e I r | Standard Pump 167mm 322mm
cenaies 9 jikiss =g BOTTOM VIEW Pulse Output Kit 202mm 357mm
12177'“'“ 63mm Mesh Muffler 319mm 475mm
e mm | AR INLET
mm »
290mm — 3/4” NPT
327mm —=

520-194-000-DS  4/02 Model M15 Non-Metallic Design Level 2 Page 4



